
https://www.pass4itsure.com/1z0-815.html
2024 Latest pass4itsure 1Z0-815 PDF and VCE dumps Download

 

 

 

1Z0-815Q&As

Java SE 11 Programmer I

Pass Oracle 1Z0-815 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-815.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-815 PDF Dumps | 1Z0-815 Practice Test | 1Z0-815 Study Guide                                1 / 5

https://www.pass4itsure.com/1z0-815.html
https://www.pass4itsure.com/1z0-815.html
https://www.pass4itsure.com/1z0-815.html


https://www.pass4itsure.com/1z0-815.html
2024 Latest pass4itsure 1Z0-815 PDF and VCE dumps Download

QUESTION 1

Given: What is the result? 

A. is it 1 

B. An IndexOutOfBoundsException is thrown at runtime. 

C. is it 0 

D. this is it 2 

E. this is it 3 

Correct Answer: D 

 

 

QUESTION 2

Which is the correct order of possible statements in the structure of a Java class file? 

A. class, package, import 

B. package, import, class 
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C. import, package, class 

D. package, class, import 

E. import, class, package 

Correct Answer: D 

Reference: https://www.studytonight.com/java/package-in-java.php 

 

QUESTION 3

Given: 

Which two lines inserted in line 1 will allow this code to compile? (Choose two.) 

A. protected void walk(){} 

B. void walk(){} 

C. abstract void walk(); 

D. private void walk(){} 

E. public abstract void walk(); 

Correct Answer: AB 

 

QUESTION 4

Given: 
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Which statement is true about the Fox class? 

A. Fox class does not have to override inhabit method, so long as it does not try to call it. 

B. Fox class does not have to override the inhabit method if Forest and Town provide compatible implementations. 

C. Fox class must implement either Forest or Town interfaces, but not both. 

D. The inhabit method implementation from the first interface that Fox implements will take precedence. 

E. Fox class must provide implementation for the inhabit method. 

Correct Answer: B 

 

QUESTION 5

Given: What is the result? 
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A. Working Unknown 

B. Unknown 

C. Tuesday Unknown 

D. The compilation fails. 

E. Tuesday 

F. Working 

Correct Answer: B 
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